ATCC medium: 1356 Defined medium with povidone-iodine

L = 4.4 g
J = = = O 4.8 g
NH4Cl .............................. 1.0 g
MgSO4 7HZO ....................... 0.5 g
2o = 20.0 g
Distilled water....ooe e iiieeeeennn 1.0 L

Autoclave at 121C for 15 minutes.
To each liter of the above base, aseptically add:

5.0 ml of Solution A
10.0 ml of Solution B
10.0 ml of Solution C

Solution A:

Ferric ammonium citrate............ 1.0%
CaC12 .............................. 0.1%
Solution B:

D=GlUCOS .t st i ettt ettt tetneeneennens 10.0%

Solution C:
Povidone-Iodine....... ..o nenn.. 0.1
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